
次の□にあてはまる数をもとめなさい

計算 分　　秒 / 6 点

(5) ３．２７÷０．５６＝５…

４
―
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1
―
6

(1)2   ｰ (3   ｰ 2.5)= 
1
―
3

2
―
3

7
―
6

(2)2   ÷   ÷   =

(3) １０ー９×   =
1
―
3

(4)(  + １  ) ×   　÷   = 1
2
―
3

１
―
５

14
―
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2
―
５
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４
―
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1
―
6
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４
―
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―
6
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―
6
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４
―
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2
―
3

=   -   
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―
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―
15

=    
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―
15

=    =18
―
5

3
―
5 1    (    )

3
―
5
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―
３

２
―
３

７
―
６

＝   ÷　 ÷　)
７
―
３

２
―
３

７
―
６

７
―
３

３
―
２

６
―
７

＝ ３   

2　

3

１０ー９× 
1
―
3

= １０ー３
=７

28
―
15

    ×　　　÷　　＝１
14
―
45

28
―
15

   　×　×　 ＝１
45
―
14

28
―
15

   　×　　　 ＝１
45
―
14

×
×

　　 ＝１÷６

　　 ＝
１
―
６

１
―
６

７
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5

０．４７

３．４ー１．５×　 ÷０．６
2
―
５

＝３．４ー１．５×０．４÷０．６

＝３．４ー１

＝２.４

２.４

＝    
×  ×
×  ×

8
―
5

1

中学受験プリントダウンロード

受験テキスト
©受験テキスト


